4.

ANIRGREZE (BRAIEEGRE S 2RSS L -RGTHEEN - FEmi)
(Rl L rfEeEHEES LIREEHEICL 2 FFHESOmM T EE T, )
(Z YR AFEER)
Hipa £HH IRE (R
10 H31.3.8 27,000
&t 27,000
(P7RIFEE)
Hina £HH IRE (R
10 H30.11.15 40,000
&t 40,000
(4D FELH)
Hina £HH IR A
Kig H30.12.17 20,000
10 H30.12.19 30,000
&t 50,000
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(ZIIAOEH-1FR)

picbis 0 £ £ 1 =3 pl
Hims HEEA B [ BGREE) FEYRE (g) T8 (kg) |HEEA B | MEREE) FFHAE (o) = (kg)
e H30.11.19 2,000 46.3 92.6
B H30.12.15 1,500 6.0 9.0
= = H31.2.26 1,315 190.1 250.0
AL H31.3.12 1,063 188.1 200.0
H31.3.26 750 200.0 150.0
i)l B H31.3.22 1,000 80.0 80.0
XiE H31.3.7 1,000 44.0 44.0
H31.3.29 1,000 46.0 46.0
S H30.10.26 2,400 20.0 48.0
HE)I H30.12.18 3,000 12.4 37.2
H31.3.14 20 100.0 2.0
H31.3.16 450 120.0 54.0
=B H30.10.13 2,000 7.2 14.4
it 15,498 934.5 2,000 92.6
(PYOCERL-1FH)
pocbs 0 £ 2 1 =3 pil
s HEEA B [ BGREE) FESRE (o) T8 (kg) |HEEA B | HMEFRHEE) FFHAE (g) = (kg)
H30.11.17 12,000 16.5 198.0
2l H31.2.23 4,000 61.0 244.0
H31.3.9 4,000 53.0 212.0
H30.11.19 2,500 47.0 117.5
a2z H31.2.17 3,000 55.0 165.0
AFEII H30.12.15 500 10.0 5.0
Z50)I| H30.11.7 2,000 19.6 39.2
ZH)I R H31.2.26 2,772 108.2 300.0
H31.3.12 1,582 126.4 200.0
H31.3.26 1,063 141.1 150.0
XiE H30.10.10 1,000 18.6 18.6
H31.3.7 700 50.0 35.0
H31.3.7 800 80.0 64.0
H31.3.14 2,500 50.0 125.0
H31.3.29 2,500 58.0 145.0
S H30.10.26 100 18.0 1.8
2EHI H30.11.7 2,000 19.6 39.2
H31.3.19 1,500 52.0 78.0
HEI H30.12.11 600 20.0 12.0
H30.12.18 2,400 20.0 48.0
H31.1.18 200 0.2 0.04
H31.3.14 75 80.0 6.0
H31.3.18 125 80.0 10.0
H31.3.16 3,000 52.0 156.0
g | Wi H31.3.22 6,800 1.5 10.2
H31.3.22 500 70.0 35.0
I H30.10.31 5,000 19.4 97.0
AR H30.11.15 10,000 16.5 165.0
IS1=LE H30.10.13 3,000 7.2 21.6
it 76,217 2698.1 0 0
A705EA-15F5)
pocbis 0 -3 2 1 =3 &
s HEEA B [ BREHCE) FEFSRE (o) E8 (ke) |HEEA B | RFES(E) FHAE (g) EE (ke)
2 H30.11.24 8,000 15.4 123.2
22| H30.11.19 2,500 48.4 121.0
H31.2.17 1,000 60.0 60.0
Z50)I| H30.11.7 2,000 15.3 30.6
RS0 H31.2.26 1,389 180.0 250.0
511 3 H31.3.22 2,500 1.0 25 H31.3.16 1,000 110.0 110.0
H31.3.22 200 70.0 14.0
XiE H31.3.14 650 55.4 36.0
R H30.11.7 2,000 15.3 30.6 H31.3.19 1,500 62.0 93.0
B H30.12.18 3,000 15.0 45.0
H31.3.18 100 90.0 9.0
) H30.10.31 2,000 14.8 29.6
AR H30.11.16 16,000 16.0 256.0
iA=L H30.10.13 1,000 5.0 5.0
it 36,800 545.5 8,039 670.0
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